
∗ ∗ ∗



Ā

Ā

ā Ā ā

ā





Ā ā

Ā ā

Ā ā

Ā ā



Ā ā

Ā ā

Ā ā

Ā ā

Ā ā

ʈ ʉ

x y y x 1, 2, 3

6 5 6 17 1 17 x|y



x y divisors(x) y y|x
divisors(6) = {1, 2, 3, 6} divisors(60) = {1, 2, 3, 4, 5, 6, 10, 12, 15, 20, 30, 60}

z x y z|x z|y
cd(x, y) x y cd(6, 8) = {1, 2} cd(40, 180) =

{1, 2, 4, 5, 10, 20}
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cd(3456, 4563)

x

x x n = 1 . . . x n x

x x

x = 3456

x = 1009

x = 1080

x y

{x, y} x y m

{x, y} n = 1 . . . m n x n y n

x y n

x y

x = 3456 y = 4563

x = 625 y = 288
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AB CD

AB = 162 CD = 31

CD AB CD
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AB = BI + IA AB IA
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AB CD

AB = 147 CD = 27

CD AB CD AB

CD EA

AB = BE+EA AB EA

q1 BE = q1 · CD

EA CD EA CD

EA IC

CD = DI + IC CD IC

q2 DI = q2 · EA

IC EA IC EA

IC

q3 EA = q3 · IC

AB =

600 CD = 276

a1 = AB = 600 a2 = CD = 276 a3 = EA a3

AB = BE + EA a1 a2 a3

a4 = IC a4 CD = DI + IC a2
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IC EA IC

EA IC a5



a3 a4 a5 IC EA
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a5 a4 a5 a4

a5

a1 a2

a3 a4 a5 . . . an+1 q1 q2 q3 . . . qn

a1 = q1a2 + a3, 0 < a3 < a2

a2 = q2a3 + a4, 0 < a4 < a3

a3 = q3a4 + a5, 0 < a5 < a4

ai−1 = qi−1ai + ai+1, 0 < ai+1 < ai

ai = qiai+1 + ai+2, 0 < ai+2 < ai+1

an−1 = qn−1an + an+1, 0 < an+1 < an

an = qnan+1

an+1 an

an+1 an−1

an+1 ai

i = n n− 1 n− 2 . . .

an+1 a1 a2
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an = qnan+1 ,

n an+1 an

a1 a2

a1 a2

a1 = 3456 a2 = 4563

a1 = 625 a2 = 288

a1 = 216 a2 = 288




